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I Grade4 Review All Term 3 Inspire Science Ms. Arwa Al Messabi _
I Depend on The Skelton OF Final Exam Term 3 /:"
Gl Juadll dilg HLA) JS e Jalais) aul ) ciiall daglall aglall 3wl jal) Juadl) JS daa) jé0

Structures and functions of plants <Ll il g 9 cuS SU4M1LL page

Q1: Choose the correct word to answer all questions:
1-Choose all Plants basic needs are:

( Shelter - Water - Air— CO2- School - Sunlight - 02 - Home - Space — Nutrients )

2-Air contain Oxygen(0O2) and carbon dioxide (CO2), plants used gas ............ to break down food
Plants also use gas .......... To make their food.
3- Which the plant part allows it to obtain CO2 or 02 ? a-Root b- Leaves

4-1ts function is gas exchange and control of water loss: a-Stem  b- Stomata

5-Plants use the (02 OR CO2) and Sunlight to make their food, its gathering by their leaves.
6-Plants use the (water OR 02) To make food, its take them by their roots.
7-Which organism gets energy directly from the Sun? el ¢ s sl 28kl kil 30 A 5 L
a-Earthworm b- Trees or Plants
8- Which is not a basic need of plants? a-Shelters s b-Sunlight
9- Where do plants obtain the energy to live and grow? seus giuss 8l e <l Jeasy g1 (10
a- From soil they live in. b-From oxygen in the air c-from food they produce

U4M1L1 page 124xi0
Q 10: Put the correct plant’s part (Root / Stem / Leaves) in the blank: page12-13

Supports plants 2| Transport system | Materials can move

el i pllas inside the plant through
Transpiration Gas exchange Collect sunlight and JSsed) & 8B Al 13 (a3l sY) cailda g
lall 1l gl Food production Leaves role NOT in EoT3

Exam coverage

Hold plant in space | Take water and | Some can be store food
nutrients

11- Which plant part plays the biggest role in supporting the plant? a-Leave b-Stem
12-Which part of the plant makes most of the plant’s food? a-Root  b-Leaves
13- lts take in water and nutrients from the soil: a-Roots Or roots hair b-Leaves

14- Green plants use sunlight, water, and carbon dioxide to create their own food. Which explains
best why humans can't create their ownfood? Ll ¢l gyiad e 58l 5 58 axed ma) 58 L
a-Humans don't use water b- Humans don't have leaves.

1




15-Write the plant parts on the picture: fﬁ“}

. . -«}_':: { .;.__ P,
Picture in Page 12 L\j_:‘xl if‘ s

U4MI1L2 page 14dxi0 (=
16-Choose Plant reproduction parts are: s e

cbilall Kl o) sal \

= Ly) -
( Flower - Stem — Cone — Root Yl T

— Seeds - Leaves— Fruits) gﬂ{ ¢

17-Look to the Flower picture, write the correct number neer its name:

(evenen ) Pistil

(cenennn ) Ovary

(seenenn ) Anther with pollen
(R ) Stamen

18-Pine trees can reproduce with (Flower OR Cone ) that produce pollen or a sticky liquid that

captures pollen.

19-Flowers contain structures that are responsible for: a-Take in water b-Reproduction

20-How are a coconut seed and a watermelon seed most alike ?zdadl s xigll jsa 53 G 4l 4 5 L
a-Each has similar shape and size. b- Each grows into an adult plant.

21- The fertilization occurs in flower inside ( Stamen OR Ovary ) But in pine trees occur

inside ( Male OR Female) cones .cuisall by Adll & jsiall Gl 8 Ly (Qassall) Jalase 3l 4 CladV) daasy

22- Fertilization occur when (Pollen OR Seed ) joins the ( Egg OR Cone) in ovary, then seeds

develop. sl kil & Ganal 84 g ae Zl8 da 22T Ladie Glady) Sasy

U4M1L2 page 154xa0

23-What properties of seeds make them good for reproduction?

a-Seeds coat. b- Carried new places c- Have cotyledon. d-All of them.
24-What is the function of the seed coat? a- It contains food  b- It protects the new plant.
25- What is the function of the cotyledon? a- It have food b- It protects the new plant.

26-The (Ovary OR Stamen ) enlarges into Fruits which protect seeds. = i
27- Write the number of seed parts neer its correct name:

............. Seed coat- ............. cotyledon - ............. embryo 3]




Figure page 154>x40 8yg0

Use evidence to construct an argument that a plant’s system has
parts that work together to support reproduction. ’ .
Sample answer: An embryo is needed for Y piasis veivin:
reproduction. The embryo gets food from the | | ""&a7 228" :
seed and is protected by the seed coat. o SO s

W g ada 5%l i3l gaan

¢ SN o gllae il 0 oS5 €SN el lea Jard Clail) a8 gl o) i Aol il
EJJJ\QJ)\LZ\.LMJJGAM}A}EJJJ\UA;\M\LALM\&M

U4M1L2 page 16dxis0

28- Physical trait or behavior help an organism survive in its environment. sis d4a 4 &l ol

a-Adaptation.-i< b-Response.iaiv)

29-Write the correct word in the table in page 16:

[ Al T (Orchid OR Cacti) [} )y ( Orchid OR Cacti)
Plant type Desert plants ¢/ e <l Rainforest plantss ke <lle <l
Climate 7! | Hot dry environment s s 4ls 25y Hot wet environmenti.k s s iy
Adaptations | ,_Thick, (Soft OR Waxy ) Stems to a-aerial (Leaves OR Roots) to absorb
i) store ( Food OR Water ) (Sunlight OR nutrients) and anchor plant high
olall Cp 3A Amad ASans (s in a tree.- il @lai s Gl (alaiad 4508 ) s
b-Dense, shallow (Stem OR Roots) b-Special (Leaves OR Roots) shaped to drain
To soak up (Snow OR Rain) excess (Water OR CO2) to prevent rotting.
SHae¥l slia pabiaia Alaia s 485 ) 5 il il 530 Ll gyl s (S LD )

30-Which is adaptation used by this plant to survive in a hot, dry environment? s ta 4 Al ciuss
a-Thick stems to hold water b-Deep roots to soak up the rain

31-Plants adaptations structures to defend themselves from animals: <l sall am cililall Lelay Class
a-Thornsd) s b-Chemicals «luilas c-Poisonousa s d- All of them

32- Why do plants found in hot, dry areas often have smaller leaves than plants found in

warm, wet areas? sl dslall il il 4 ie 5 jpea Led) )5l Alally 5 lall slaliall il 13

a-Smaller leaves allow plants to grow in smaller spaces. Jss g8 G saily cilill man 3 psall G 5Y)

b- Smaller leaves limit the amount of transpiration that occurs.zi ¢« Jii 233 psall G 5Y)
U4M1L2 page 174xas0

33-Change in an environment that cause an organism to respond. ;s Alainy g2y Al s

a-Adaptation.-i b- Stimulus.4:is




34-Plant’s response to water, gravity, light and touch. 4uisll sLall cilall das)
a-Adaptation.-< b-Tropism. slalil

35-Reaction or change in behavior of an organism. Sl &gl a5 5l Jad 3
a-Adaptation..i< b-Response.ixiv

_36--Which is an example of a plant responding to its environment? ul cidl aiey Jhe

a- Phototropism b-Stimulus
37-Which is true about tropisms? L.l e daaall o L
A-They are a plant part. B-They help plants get what they need.

38 -Choose the correct stimulus for each type of tropism:

CCLeHY TROFISENS

Phototropsim Gravitropism Plant respose
Plant response iR e e ffsg to
€O Water OR Light y Fo ( e

s | Hydrotropsim  sbe slaid)

Thlgmotrop51m
.t Plant response to .

Plant respoSe to

==__ | Water OR
or | Touch/ Contact

Structures and functions of animals <Ul gal) (aillh g9 cuS 5 U4MI1L2 page 334dxiaw

Q1: Choose the correct word to answer all questions:
1-Choose all Animals basic needs are:

( Shelter - School - Water - CO2- - O2 - Space — Sunlight - Food )
2-Choose all animal’s Internal structures: Ul gall Zala)all )l € 34l
(Lung - Wings — Heat — Clows — Stomach — Kidney - Teeth — Brain — Fur — Intestines )

3-Choose all animal’s External structures; <2Ul sisll doa 5l () yill J< sl

(Beaks - Wings — Heat — Clows — Stomach — Antennae- Teeth — Brain — Fur — Intestines )

4-Connect each animal’s part to its function:

Function 4&.5 ¢l Correct Number Organ gl
1-Information Processing <l glaall Julas Stomach 32
2-Food digest alahal) acap Lungs 40
3-Absorb nutrients alakll (abaial Brain £l
4-Eliminate waste <lail) (e (alidll Intestines slaeY!
5-Gas exchange <&l Jals Kidney !




5-Why do bears have sharp claws?
a- -to help them catch their food. b- to help them see their food
6-Choose feature used to help animals stay safe?W yial-glal i o sl el Lo aclus La JA1) cus) 30 aea

(Strong jaws -Lungs -Shells - Scales- Heat- Claw - Beak)
7- Which is structural adaptation used to help animals move? a- Lungs b- Wings
8- The shark's teeth and a bird's beak are examples of structures: a-External b-Internal

9- Fox can use its_to catch its prey. a-Beak b-Teeth c-hand
10 - Not an example of how internal structures function support an animal's survival?
s o saal) o8 Aega Cad ) ale A aa¥) L A0S0 deis () 3 oeliae ) slall 2 e o sial) el <10
a-The brain process information. b-Teeth help animals chew food.

11- Which feature do all birds have in common? Select all that apply

a-Beaks b-Feathers c- Teeth d-Wings e-Powerful claws
12- Why bird’s beak and claws are different? Because of:

a-Birds eat different food. b-Birds life in different place

U4M1L2 page 34420 | 1-Structural Adaptationiills ¢ sl 4ygail) to aolud i Lawa ) 5

13-The brown fur of a deer helps it blend in with its wooded environment. This adaptation is
a- Mimicry b- Camouflage
14- How do animals use camouflage to survive?aiull o sl (i 4%y ae gty 14g saill ()l gaall padin o
a-Standing out from their environment b- Blending into their environment
15- Why animals camouflage or mimicry? &l 5 4, saill Ul gl axdios 13l
a-Prey can avoid predators. b- Predators can sneak up on prey. c-All are correct
16- Mimicry occurs when: JAT U ga o) ga dlay slaie adail) Giaay

a- An organism needs like food, oxygen to survive

b- One organism imitates another organism.
2-Behavioral Adaptation ¢ sidl) cilbuad) g 3 agd) Jia dwdi Glaad o) gaal) Laagy Al b jua g S gl

17-Most animals migrate: w8 Flie cuias - il -alada (e Va1l gl Qle jaled

a-Food& water b-Reproduction c-Avoid hard climate d- All of this
18- Why Some of animals hibernate? wlal #lall Luat (5 i) clad) ) @bl soal) Ll 130l
a-Avoid hard climate b-Reproduction

19- Which adaptation will help an organism find food? a&ll jalakall sy | Auls e Ul gall s
a-Sense of smell b-Thick fur




20-Why do animals travel in herds? uS gk 8 Ul gl & a5 13l

a-To eat a lot of food b- Protection from predators.
21-Why do lions or wolves hunt in packs? <ile saxe & Ll 5 2 sl sl 13l

a- To capture larger prey. Protection from predators
20- Write the correct concept near each definition: page 34 and 35

The definition Correct # Concept
1- Adaptation by resemblance, look like to a different Migration
animal or object, to protect themselves against other
2- Inherited change to physical features to help Hibernation
organism Survive and reproduce.
3- Any coloring, shape or pattern that allows an Mimicry
organism to lend in with its environment.
4- Period on inactivity during cold weather Structural Adaptation
5- Movement of animals from one place to another Camouflage

Information processing in animals <l giad) gl cila gleal) JilaS U4M2L1 page 62-63 dxine

1- Gather, collect information from outside animal’s body by (Sensory Organ OR Brain)
2- Animals use their (Kidney OR Sense ) to gather information from outside.

3- How do whales, bats, and dolphins make use of echolocation?

a- They use echolocation to help scare away predators.
b- They use echolocation to find food and find their location.

4-How would having larger eyes benefit a nocturnal animal? 4 olse

a- Large eyes maybe scare off predators.
b-Large eyes maybe able to gather more lighter to see better.

5-put correct number of the animal near each sensory:

Animal name Number Sensory
1. Colossal squids Taste by feet
2. Elephants Small by antennae
3. Ants have biggest ears
4. Butterflies have largest eyes
5. Snakes Use Echolocation- Echoes- reflect sound
6. Duck billed platypus Heat sensitive part- detect infrared
7. Bats- dolphin - Whales Detect weak electrical field or moving in water.

7-How snakes use their pit viper's organ? 3, all (ulua siac B 205 (oS
a-Detect infrared light given off by warm-blooded prey.

b-Detect normal light given off by animal’s body.
6




U4M2L1 page 64 - 3 Questions 64 daia (e Adiui 3
8: Put the correct letter of the word near each meaning:
a-Spinal Cord b-Brain c- Central Nervous System

d- Nervous System e- Peripheral Nerves
1-Organs that uses information from senses to control all body (............ )-

2-Part of NS made of brain and spinal cord (............ )-
3-Organ that interprets, explain massages received from and sends massages to other body(........ )-

4-Thick band of nerves inside spine, moves information to and from the brain and peripheral
nerves (............ ).
5-Nerve outside CNS that receives sensory information from other parts of body (............ )-
Q 9: Complete this diagram correctly by using this word:

Brain - Central - Nerves — cord — Nervous- Peripheral

10-The brain and spinal cord are part of which system?
a-Circulatory system b-Central nervous system c-Peripheral nervous system.

11-Which are directly connected to the peripheral nerves? Select all that apply.

a-Tongue b- skin c- brain d-nose e-Ears

12 Look to this image answer which A, B and C then choose between ():

A is the ( Brain OR Spinal cord) its part of (CNS/ PNS).
B is the ( Brain OR Spinal cord) its part of (CNS/PNS).
C is the ( Nerves OR Spinal cord) its part of ( CNS or PNS )




13- Choose the correct path of sensory information from the environment to the brain:

a- Sense organ, peripheral nerve, spinal cord, brain.

1 | seneory organ 1 brain
b- Peripheral nerve, sense organ, spinal cord, brain. (i S | ﬁ‘“‘é\(

14- Something in the environment that causes a living thing :’m\ >
2 peripheral] 3 spinal cord

. . . LS5 et
to respond is  ( Brain OR Stimulus ) /| %) 7

-4\-~:
14- Why its advantage that the nervous system allows Y,

animals to feel pain?

a-Animal can stop doing something that harmful to it. b- Animal may die.
15-How the body reacts to a stimulus?

a-Sensory organs are not part of the nervous system.
b-Different sensory receptors can detect different types of stimuluses from the environment.

Q16: Arrange this sentence according to How can animals use their senses and

memories to guide their actions?

(ceveenenn. ) - The memory can be used to guide future Responses.
(cornennns ) -The senses detect a stimulus which is interpreted by the brain.
(ceeeenenn. ) -The sensory information is stored as a memory.

1. A rabbit sees a fox. Use the diagram to describe
what happens in the rabbit’s body that causes the
rabbit to run away and hide.

Figure page 64dxio byg0

. The information travels from
the eyes, to the nerves, to the spinal cord, and
then reaches brain. The brain sends back a
respond through the nerves, to run and hide.

el Y f-l.ua\g\ujﬁmm)‘i\w‘,ﬁ"_\h\.:\huma.‘o)yd\?m‘ sl i ¥ L& -

A Jad oy plaall Juy) 5 laall N cilia g5 S5l Jiall 23 lae W1 e i V1 (ulsa 5 e (o e shal) il
;L\.\A‘}“ J\ Q_IJJ.GJLI Q_IL;.A.Q\EI\

18- (Reflex OR Stimulus ) is a quick reaction that happens without a message from the brain.

19- Part of the central nervous system which responsible of the reflex (Brain OR Spinal cord).

20-An action or movement of the body that happens automatically as a reaction to something:

a- Reflex b- Stimulus

Role of animals' eyes <l gial) (5 43 3 UAM2L2 page 784

Q1: Answer all questions correctly:

1-The bouncing of light waves off a surface ( Reflection OR Refraction )




2-A “picture” that light rays make by bouncing off object ( Refraction OR Image )
3-The bending of light as it passes from one transparent material into another
( Reflection OR Refraction)
4- Light is a form of energy that: a-Does work b- Lets you see
5-We see objects when...... bounces off of the object’s surface: a-Light b- Sound

6-Look to each picture then write the correct number near each picture:

1- Reflection 2- Refraction

U4M2L2 page 804dxiuo

7-12- Which structure is at the back of the human eye where light through the lens is focused?

a-Cornea b-Pupil c-Retina d- Rod.

Q8:Write the correct eye part then Put the number of eye’s part on the image:

A- lts (Pupil OR cornea) where light enter firstly. sl sl

Human Eys
. J',’ Mm,’.
B- Its (Pupil OR cornea ) light can enter the eye through it. s ;

C- Its (Pupil OR lens) refract the light to hit inside the eye.

D- (Lens OR retina ) where image form small, upside down,

send a signal to the brain.

E- The (Retina OR Optical nerve ) carry signal to the brain.

F-Brain interprets the signal as image. _s= Il SIWEY) glaall

9-Light enters through...... The ......sends signals to the brain to be interpreted as images.
a-Retina, Cornea b- Cornea, Retina

10-Which part of the eye are transparent? ( Lens — retina — cornea — optic nerve- Pupil )_a)

11- In the human eye which sends signals to the Brian. ( Cornea OR Retina)

12-Human eyes have ( Concave OR Convex) lens to ( Refract OR Reflect) the light.

13-The (Lens OR Pupil) . eye part can dilated depend on light amount..s sall i g iy cpall 8

14- How does most light reach the eyes? el N ¢ puall o) Joay s
a-lt is transferred through waves in atmosphere. sl B z1 Y Jais
b-It is reflected off another object. G aY sla¥l e (&ai
15- How can transparent eye part help the function of the eye? Ll (& saeluall 2aal cpall o 32Y (Say s
a-Light can pass through them to reach the retina. <.l J Joad 2BA (o ¢ sl ya

b-Light can pass through them to reach optical nerve. ;=i cuasll I Jsall s o ¢ sl e
9




16-Farrah injured one of her eyes while playing in a sand box. Since her injury, her vision is
very blurry. Which statement possibly explains why the blurriness is occurring?
a- Her eye is not focusing light properly. b-Her eye is absorbing too much light.

17-How do reflection and refraction allow animals to see?ui s e 8 luall JLuSil g (ulSaid (Say (S

Animals’ eyes depend on reflection of light to see objects. If NO light they do not see, When
light entering the eyes is refracted, without refraction, seeing will be blurry.

GoY, Cpall A gl die ¢ gl LY Giaay il gaall QIE) (5 5 Y ¢ guall (g, g ull 5 gudal) GulSad) o @l gald) ¢ ge adliad
Aadly s Al Ll 0SS L)

U4M2L2 page 83 dxiso

] ] ] ] A<............ ) Frog g1.<a
Q18: Join the passion of eye to the kind of animals. i
‘ B-(......... ) Owl 4a
1-Eyes on front of their head. ) dexia & (50
C-(.covnnn ) Eagle Jiea
2-Eyes can see in the dark. 224l 2 s 5 Gas .
y s alod D-( ) Pray il
3- Eyes can see on far distance. S 4l o s 5 g E-( ) Flies & Bees
4- Have compound eyes.&:s » i e = ) Predators i sii
5-Eyes on top of head. il Jlsi e Ge( o ) Fish.dlea
6-Eyes on side of their head avoid dangers..«iJl (il e Qe
19-Nocturnal animals can see better at night because their ...... is
dilated and allows more light to reach the back of the eye. w3 Jdl @ ﬁ:‘: f
Nocturnal eye D*:urngi)eye
Dol S e gl manil | an s o) s a- Cornea b-Pupil e
13 JS die () gaad) a8 s
20- a- Have compound eyes ( ............ ). A8 e s 4l b-Eyes in sides of head (....... )

-

21-Some animals can enlarge their pupils so more light pass through special night, why this is
advantage? e 13a 13l Sl dBaad) a6 audatodt ) s
a-They able to see better b-They not able to see.

10




22-How would having larger eyes benefit a nocturnal animal? (3sdl) Ll o) sall 3 Sl () gaall 32308

a- Able to scare off predators. b- Able to gather more light to see better.

23- Which of the following is true about how animals see objects? Select all that apply.

a-Some animals eyes allow more light in so that animals can see better in light.

b-Some animals have different structural adaptations that allow them to see differently.

c-Visible light reflects off of an object and passes through the cornea and pupil to reach the
retina.

d-Some animals have eyes that allow them to see when no visible light is present
without the help of other detection systems.

24- Which statement helps explain the position of eyes on predators?
a. Sideways-facing eyes allow predators to see prey at night.

b. Forward-facing eyes allow predators to judge the distance and depth of objects.

I WISH YOU GREAT ACHIEVEMENT, GOOD LUCK, OUTSTANDING HIGH GRADES
MS. ARWA AL MESSABI. SCIENCE TEACHER ©

ks e Clays ge Lo clolis £} 81 42
:) polall dolao (g Syl 33kl
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